X XIX PEIYBJIMKAHCKA CTYJIEHTCKA OJIUMITUAJIA

ITO ITPO'PAMHWPAHE

YHUBEPCWTET "AHI'EJT KbHYEB"

3agaua 1. eauren

Ka3Bame, ye enHo uncio 4 e no-100po oT Apyro yucio B, ako cymata Ha nudpure Ha 4
€ Mo-roJisiMa OT cymara Ha nmudpure Ha B. AKO BK CyMHTE OT IIM(pUTE HA ABETE YUCIA Ca
paBHHU, TO MO-100pO € YUCIOTO, KOETO € M0-MaJKo OT Apyroto. EcrecTBeHo, ako 4 u B cbBnajar,
HsMa KaK J1a OIPEJeNIM KO€ YHCIIO € MO-100po.

Hanumere nporpama, KoATo HaMupa Hal-JIOIINS JEJIATEN Ha 3aAaneHo yucio N. Cmsra
ce, 4e JEeNIUTENN Ha YUCIIOTO ca U, KaKTO YUCJIOTO 1, Taka ¥ caMOTO YHCIIO.

Bxon
Ha mepBust pen e 3aganen 6posaT Ha TecToBUTE NpuMepHu. Beeku oT creaammTe peaose
ChABPKA €AHO LISI0 YUCIIO N.

H3xon
3a BCEKM TECTOB IPUMEp C€ H3BEXKIAa €IMH DPEl, ChIbpPXKAIl €JHO LSO YHUCIO —
HaMEpEHUAT Hal-JIOW JEJIUTE.

OrpanuveHus

0<N<10%

IIpumep
Bxox HN3xon
2 1
2325 10

75810




XXIX PEIIYBIIMKAHCKA CTYJEHTCKA OJIUMIIMAIA

ITO ITPOI'PAMHYPAHE

A YHUBEPCUTET "AHIEN KbHYEB"

3amaua . Divisor

We say that an integer A is better than another integer B if the sum of the digits of A is
greater than the sum of the digits of B. If the sums of the digits of the two numbers are equal, the
better integer is that, which is less than the other. Naturally, if A and B match, we can not
determine which number is better.

Write a program that finds the worst divisor of a given integer N. It is assumed that the 1
and the number N itself are also divisors of N.

Input
On the first line the number of test cases is given. Each of the following lines contains an
integer N.

Output
For each test case output a line with a single integer — the worst divisor of N.

Constraints

0<N<10%

Example

Input Output
2 1
2325 10

75810






